T Clash drills

1nc Structure

A. Interpretation

1. Definition

2. Aff Obligation

B. Violation

C. Standards

a. Limits

b. Grammar

c. Expert opinon/ Field Context

d. Bright line

e. Effects

1. predictability

2. mixing burdens

f. Extra – T

1. severance

2. plan spike

3. moving target

D. T is a Voter

a. Jurisduction

b. Rule of the game

c. Fairness

d. Education

e. Research burden


2ac Structure
1. We meet

2. Counter Interpretation

3. Ours better

4. Yours sucks

5. T is not a voter/ Competing interpretations are bad

2 people will debate each word. With the following time constraints. Each person gets 1 minute of prep time. There will be 30 seconds of c-x after each ‘constructive

Read 1ac plan text

1NC  - 1:00

2AC  - 1:30

2NC  - 3:00

1AR  - 1:30



Some notes

1. “Tag” your arguments – a 2-3 word phrase that comes is easier to flow. Make sure this “tag” is not just a generic argument label of “we meet” but rather something more specific to the argument. This is especially important in 1NC and 2AC. Do remember not to OVERDO substructure.
2. Define other words – Both on the aff and neg, defining other words can provide resolutional support for your interpretation
3. Compare your interpretations – Ask yourself, what do you allow that they don’t? What do they allow that you don’t? Then why are those cases or types of cases important
4. Impact analysis – It’s not just about abuse, juuuh-dge. Why are limits important? Why is better research important? Talk about the “internal link” to fairness and education in your comparison of interpretations and when explaining why T is a voting issue
5. Pick and Choose – strategic concessions and argument selection are important for final rebuttals. You needn’t win that they violate every word, just one. So concentrate your time and make concessions in order to boost your argument if possible.
6. Avoid double turns – This happens most often in the establish means create vs. make firm debate. The neg will say it is a totally new idea. The aff will say they are a totally new idea and also counterdefine establish to mean something that modifies something in existence. The negative can extend this double turn and potentially win the debate. Avoid these mutually exclusive 2ac answers, and watch for them on the negative. 
7. Other Argument Interactions – How do other T violations run in the round interact? Is there any case that would be topical under ALL the violations? Are there any disad link answers that prove your topicality argument?
